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Eigenfunctions of the f* Configuration

]. C. Eisenstein

(May 20, 1963)

Wave functions for three equivalent f electrons which are eigenfunctions of L2, S2, J?, and J, are

given.

As a preliminary step in some recent theoretical
work on Nd** and Er?* a set of three-electron wave
functions was obtained which are eigenfunctions of
12, 82, J?, and J.. These functions are linear combi-
nations of products of one-electron functions which
have the usual form

f(r)Yg'"(O, d)) Xms~

Y;m is a normalized spherical harmonic and xu, is a
spin eigenfunction.

The three-electron eigenfunctions may be useful
to other research workers so they are tabulated here.
A possible use for them is in calculating matrix ele-
ments or transition probabilities.

To understand the notation used for the wave func-
tions consider the following example: the ket

|32—2>=|3>|2>|—-2>

is to be understood as a product of one-electron func-
tions. For the first electron m; is 3 and my is — %;
for the second electron my; is 2 and m; is +%:; for the
third electron m,; is —2 and my is + %.

The functions given in the tables can be antisym-
metrized in an obvious way, but this antisymmetriza-
tion is usually not necessary in calculations.

The phases of the functions are adjusted so that
matrix elements of the spin orbit interaction have
the signs given by Judd and Loudon.!

There are two 2Hiyjz, 2Hep, %Gz, %G, 2Fap2, 2F5)2,
2D5p, and 2Dy» terms. These terms are labeled by
additional quantum numbers which refer to group
theoretical properties of the wave functions.?

' B. R. Judd and R. Loudon, Proc. Roy. Soc. (London) A251, 127 (1959).
2 G. Racah, Phys. Rev. 76, 1352 (1949): B. R. Judd, Proc. Roy. Soc. (London) A250, 562
(1959).

Half of the 364 wave functions are given here.
The remaining functions can be obtained by reversing
the signs of m; and my in the kets.

The tabulated functions can also be used for the
system of 11 equivalent f electrons.

TABLE 1. M=17/2
Na= | 332 >
2Lazj2 1 1
TABLE 2. M=15/2
N-2 | 332 > | 331 > |322 > | 321>
2Lz 17 1 V10 -Vé 0
s 136 8V2 -5 V3 0
2K s/2 8 0 V3 V5 0
s/ 1 0 0 0 -1
TABLE 3. M=13/2
N-2 33T 330 321 320 321 322 321
i 136 VIO V30 —V15 0 2VI5 -V6 -VI5
2 136 5V3 -2 V2 0 -2v2 —-3V5 V2
2K,y552 120 V3 6 5V2 0 -2vV2 V6 -3/2
g [ 15 0 0 -1 -2V3 - 0 -1
Ky 80 V6 -3V2 -5 0 2 /10 3
Ty 15 0 0 -2 V3 -2 0 -2
T 21 0 3 -V2 0 -V2 0 2V/2
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TABLE 4. M=11/2

N-2 330> [33—1> [320> [32—1> [321> [320> [311> [|310> [321> [320> [321> |221>
Lz 136 V6 2V2 -2 0 V3 6 - V30 o —2V3 —4 V3 3VZ
2Ly 952 14 -2V3 V6 0 VZ -3V6  3V5 0 —-14VZ V6 ™NZ —3V3
2K ysr2 840 6 6V3 5V6 0 3V2 Ve V5 0 2VZ  —6V6 —5VZ V3
L) fP 105 0 0 -2V3 -6 -1 —2V3 0 —V30 -1 =oN/a) -1 0
2K i3 10920 39vVZ  —6V6 —10V3 0 39 -2V3  —1V10 0 26 12V3 —65 -6
Liaje 195 0 0 —3V3~ 6 -4 —3V3 0 V30 —4 -3V3 -4 0
g 273 3 6V3 -2V 0 -2v2 V& 0 0 vz V6 vz -6V3
Liyje 3003 0 0 11VZ  —3V6 —11V6 11V2 0 —-3V5 —11V6  11V2Z  —11VE 0
My 546 6V6  —3VZ2 2 0 -8V3 -1 0 0 43 -1 V3T 3VZ
2H, 12 (210)(21) 273 0 V5 3VI0 0 0 —2VI0  —6V3 0 0 —-V10 0 —2V5
*H, 2 (210)(11) 6 0 Vo 0 0 0 -1 0 0 0 1 0 V2
Guyje 11 0 0 0 V5o 0 0 -6 0 0 0 0
TABLE 5. M=9/2
N 331> [33-2> [32—1> [32-2> |30> [32—1> [310> [31—1> [3l0> [320>  [32-1> (33>  [320> BI1> 0>  |%i>  |280>  |21T>  |210>
Lz 476 2V3~ V5 -V3 0 4 a3 —2V10 0 3V10 -G —3V3 0 2 -V  -Vio  3VZ a6 —3V5 0
*Luye 12376 2%  —2Vi0  2V6 0 26V2°  —8V6  8V5 0 —12V5  —39VZ  6V6 0 13V2 —13VI5s  aV5 39 —16V3  6V10 0
Kyga 3640 6VZ  2V3  10VE 0 6V6  8V2  8VI5 0 -4V -V -18VZ 0 -5v6 V5 —aVis V3 16 2V30 0
Ly 455 0 0 -6 —2V10 —2V3 -6 -V30 —-4VI0 -V30 -2V3 -6 -1 —-2V3~ 0 —V30 0 0 0 N
Kigz 1820 V6 —Vi5 —5 0 12V3 -4 —2V30 0 V30 -2V 9 0 -10vV3 V10 V30 V6 @ —4V2 -VI5 0
Ly 390 0 0 —2v3 V30 — —2vV3  —Vi0 2V —VI0 -7 —9V3  —2V3 -7 0 -V1o 0 0 0 Vis
Ly 546 6 3VIO  —2v6 0 — V2 w6 —2V5 0 Vs —V2 V6 o om 0 NG —G Y- @
St 33033 0 0 19VE  —6VIs —#VZ  19V6  19VE —12VI5  19V5 V3 19V6 —33V6  —uvVZ o 19V5 0 0 0 —3V30
Ty 6006 33vV2  -6eVE  aV3 0 -1 -8v3~ 210 0 -Vio  -n w3 0 22 0 Vo -33VZ V6  —6V5 0
H,,,(210)21) 3003 Vs 5VZ 6V30 0 VIO -3V3 -6 0 16 V10 —3V30 0 -3Vio -6V  —10 —2v5 —evs -8Va o
2H,,5(210)11) 66 vz 2V5 0 0 =i 0 0 0 -Vio 1 0 0 0 0 V10 Wz 0 -2V5 0
G 121 0 V5 sV2o 0 Vi Ve -V2 V6 0 V5 0 0 0 -6 0 0 0 =
Tz 9438 0 0 2VIs  —V6  —11V5  2VI5 5VZ  —2v6  5V2  —11VE 2V 2VIZs  —1vVs o 5V2 0 0 0 -V3
Hys10(21) 15015 —5V10 5 6V15 0 —10V5  —3V15  —3V2 0 8va —20V5 —3VI5 0 30V5  30V6  —5V2  10VI0 —3V30 @ -8 0
2Hy2(210)(11) 66 -2V5 V2 0 0 V10 0 0 0 =1 -Vio 0 0 0 0 1 —2V5 0 -Vz 0
Goz 1452 0 0 —4V10 15 0 -4V10  8V3 -3 8V3 0 —-4V10 0 0 0 8V3~ 0 0 0 —9V2
Cu(210)2]) 455 0 -5V3~ 3V5 0 0 V5. -3V6 0 -2V6 0 -5 o 0 0 5V6 0 V10 2V3 0
Gya(210)20) 231 0 -3V6 —Vio 0 0 2VI0 2V3 0 -V3 0 V16 0 0 0 -V3 0 -3V5  -3V6 0
Fys 4 0 0 0 -1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 =/
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TABLE 6. M=7/2

N-2 33-32 3383 322 32-3 32-1 32-2 31-1 31=2 310 31—-1 300
) 6188 5 Ve V6 0 3V15 5V6 —5V6 0 5V2 10V6  —10V6
S 12376 2V/30 -5 V5 0 18V2 —5V5 5V5 0 V15 —10V5 10V5
T4 10920 230 3V5 5V5 0 18V2 V5 17V5 0 4V15 —2V5 18V5
Tispe 1365 0 0 —2V10 -V15 -6 —2VI0  —-4V10 -15 —V30 —4V10 0
*Kig/z 60060 nvis -3V —5V10 0 99 -1V1I0 -17V10 0 11V30 2VI0 —18VI0
L2 4290 0 0 - V1o V15 g —V10 —2V10 30 —3V30 —2V10 0
*Liare 6006 3V30 6V5 —4V5 0 6VZ 14V5 -8V5 0 -Vi5 0V5  —6V5
T 33033 0 0 16V3 —9V2~ —5V30 16V3 32V3 —9V/30 —-25 32V3 0
T,y 6006 30 -3V6 2V6 0 V15 -1V6 Ve 0 —-5V2 -5V6 3V6
2H,12(210)(21 15015 5VZ 5V3_ 30V3 0 3V30 —10V3 24V3 0 10 V3 —22V3
2H,1/2(210)(11) 66 2 Ve 0 0 0 Ve 0 0 -V2 -V6 V6
Gy 605 0 0 5VZ 5vV3a V5 5V2 -V2 45 Vo -V2 0
L 9438 0 0 3V6 -2 —6VI5 3V6 6V6 —2V15 —15V2 6V6 0
2H,2(210)(21) 45045 —15V3 5V2" 30V2 0 -21V5 —10V2 24V2 0 —15V6 \%3 —22V2
Hy/2(210)(11) 198 -3V6 2 0 0 0 2 0 0 3V3 -2 2
Gos 13068 0 0 —-25 15V6 —8V10 —25 5 12V10 16V3 5 0
2Gy(210)21) 4095 -5V3  -15V2  15V2 0 Vs —10vVZ -3Ve 0 -5V6  -1VZ —6VZ
2G/2(210)(20) 2079 -3V6 18 —-10 0 Vio 2 2 0 V3o 14 18
Fopz 36 0 0 -1 V6 0 -1 1 0 0 1 0
G 41580 0 0 —35VZ 15V3  28V5 —35V2 %3 28V5 —28V6 V2 0
2G2(210)(21) 16380 20V6 -15 15 0 —16VI0 -10 -3 0 40V3 -7 -6
2G72(210)(20) 4158 12V6 -9 -5 0 —4V10 1 1 0 —4V3 7 9
Fap 36 0 0 V2o -V3 0 N3 3 o o B n
F712,(210)(21) 132 0 -7 3 0 0 2 -3 0 0 1 2
2F;,,(100)(10) 6 0 1 1 0 0 -1 -1 0 0 1 1
Dy 21 0 0 0 V10 0 0 0 -Ve 0 0 0
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TABLE 6. M=7/2—Continued.

30—1

321

32=2

320 32-1

310

31-1 310

220 231 210 21—1 210 211 210
Lo 0 —-aVis —-4V6 0 Vs —15VZ -5V6  10VZ  4V30 910  —10V3 0 203 -15 —10V3
*Ls2 0 -24V2  4V5 0 6V2  —12V15 5V5  8VI5 48 -15V3  5VI0 0 —-10V10 —6V30 5V10
T 0 -8Vz  —12V5 0 —-10vVZ  4V15  —15V5 —8Vi5 16 \ V3 9VIo 0 —2V10 2vV30 -1V10
“Tis2 —2V30 -6 —-2V10 —2V3 -6 -V30 —4V10 -—V30 0 0 —-2v5  —-3VI5 —2V5 0 —2V5
Ky 0 -4 12V10 0 —55 11V30  15V10 —22V30 4VZ  -21V6  —18V5 0 45 nvis  1a4Vs
L) P 4V30 —18 -Vi0o -1V3  -18 -3V30 —2V10 —3V30 0 0 -5 6V15 -5 0 -5
L 0 -12vV2  —10V5 0 6VZ -Vis  -2V5  VI5 —18 0 V10 0 -1vio 3V V1o
Ty —36 —5V30  16V3  —33V10 —5V30 —25 32V3 -5 0 0 8V6  —21vV2  8Ve 0 8V6
e 0 —8V15 5V6 0 V15 —5V2 Ve  10vV2  —6V30 0 —4V3 0 11V3 30 -7V3
2H,,/(210)(21) 0 3V30  —20V3 0 —6V30 —16 -25V3 6 -6V1s —18V5 —11V6 0 V6 -8V2 106
2H,12(210)(11) 0 0 Vo6 0 0 %3 V6 0 0 0 —2V3 0 V3 -2 V3
Gup V6 V5 5V2 0 V5 —V6 -V2 -6 0 0 -6 -7V3 -6 0 -6
Ty -4V2  —6V15  3V6 3V5  —6VI5s  —15V2  6V6 —15V2 0 0 3V3 -6 3V3 0 3V3
2Hy/2(210)(21) 0 —21V5  —20V2 0 54V/5 24V6  —25V2 -9V  21VI0  —6V30 —22 0 2 24V3 20
2H,2(210)(11) 0 0 -2 0 0 —3V3 2 0 0 0 —2V2 0 V2 3V6 %3
Gy -6V3 —8Vi0 -2 0 —-8V10 16V3 5 16V/3 0 0 15V2  —21vV6  15V2 0 15V2
2G2(210)21) 0 -V5  —5V2 0 -3Vs 2V 10V2  3VE V10 V30 —6 0 —14 2V3 20
2Gy/2(210)(20) 0 —2V10 8 0 V10 V3 -16 -2vV3 -3V5 0 —12V2 0 0 -3V6  12VZ
Fyp2 2V3 0 -1 0 0 0 1 0 0 0 V2 -V6 -V2 0 -VZ
ACre -3vV6  28V5  —35V2 0 28V5  —-28V6  1V2  —28V6 0 0 42 —21V3 42 0 42
2G12(210)(21) 0 410 -5 0 12V10  —16V3 10 -24V3 -8V5  1VI5 -3VZ 0 -7vV2  -8V6  10Vz2
2G1/5(210)(20) 0 8V10 4 0 —4V10  —aV3 -8 8V3 12V5 0 —6V2 0 0 12V6 6V2
Fp Ve 0 vz 0 0 0 -Vz 0 0 0 2 -V3 2 0 2
2F75,(210)(21) 0 0 —3 0 0 0 2 0 0 —Vi5 vz 0 vz 0 —2V%
2F712(100)(10) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
Dyje e 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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TABLE 7. M=35/2

N-* 33-3 32-3 32-2 32-3 31-2 31-3 31-1 31-2 30—-1 30—2 30—1 32—-2 32-3 32—1 32—2
) 12376 V6 =il e 6 —2Vi5 o 5v6  5VI5 —15VZ 0 20V2 —-5V6 -5 0 V6
*Lyse 136136 11 Ve u -6V6 6VI0 0 550 —15V10 30V3 0 —40V3 -55  5V6 0 1
*Kise 24024 3V5 V30 12V5  2V30  22vV2 0 15V5  5V2 1Vis 0 —-8Vi5 —-71V5 —3V30 0 —5V5
Tisre 3003 0 -VI5 —2V10 —-V15 -15 -4V6  —4V1I0 —15 -—2V30 -—-10V3 -2V30 —-2VI0 —-VI5 -6 —2VI0
Kyg 2402¢  3VI0 -—VI5 12V10 —-2VI5 —22 0 15V10 -5  —7V30 0 4V30 —-7VI0 3VI5 0 —5V10
gz 429 0 0 -V10 0 0 2V6 —2V10 0 0 5V3 0 V1o 0 -6 V10
Uy 3003 6 -V 10 5V6 —3V10 0 2 6V1I0 —7V3 0 8V3 -1+ —-4aVe 0 4
Ol 99099 0 13V2  —6V3 13V2 13V30 —24V5 —12V3  13V30 52 —30V10 52 —-6V3  13V2 —21V30 —6V3
A 18018 9V6 4 15V6  —20 4Vi5 0 3Ve —8V15  14V2 0 —-16V2 —21V6 16 0 6V6
2H,,2(210)(21) 45045  5V3  30V2  20V3  —5V2  18V30 0 25V3  —3V30 4 0 46 10V3 —25V2 0 —30V3
*H,;/2(210)(11) 198 Ve 0 Ve 4 0 0 -V6 0 2V2 0 —-4vV2 V6  -a 0 0
Gl 1815 0 5V3  5VZ  5V3  4V5  3V30 -V2 w5  —V6 2Vis —-Ve6 5V2  5V3 Vs sVZ
S 9438 0 4 —-6V6 4 V15 —2V10 —12V6  4VI5  8V2Z  —5V5  8V2  —6V6 4 12VI5  —-6V6
2H,2(210)(21) 180180 —20V2  30V3 —80VZ —5V3 54V5 0 -100V2 —-9V5  2V6 0 23V6 —40VZ —-25V3 0 120V2
2Hq/(210)(11) 198 —4 0 -4 Ve 0 0 4 0 V3 0 -2V3 4 -V6 0 0
G 52272 0 —-5vV6 —65 —5V6 —4V10 21V15 13 —-4V10  2V3  9V30 2V3  —65 —5V6 —12V10 —65
2G4/2(210)(21) 16380 —15V2  15V3  5V2  —25V3 12V5 0 —-10vV2 —17V5  —9V6 0 -V6 10V2  10V3 0 —15V2
2G2(210)(20) 4158 —9V2 —5V3 —4V2 —8V3 —4V5 0 8vV2  8V5  10V6 0 -2vV6 —-V2  13V3 0 5V2
Fyp 144 0 V6 —1 V3 0 V15 1 0 2V3 V30 2V/3E ] -6 0 =il
Gapz 291060 0 -55V3  70V2 —55V3 —44\V5 27V30 —-14V2Z —sV5 1Vve 18VIs  11V6  70V2Z —55V3  8aV5s  T0V2
2G72(210)(21) 114660 105 15V6 —35 —25V6 12V10 0 70 —-17V10 —18V3 0 —2V3 —70 10V6 0 105
2G1/2(210)(20) 29106 63 -5V6 28 -8V6 —-4V10 o —56 8VI0  20V3 0 —-4V3 7 13V6 0 —35
Fape 252 0 Vi V2 V3 0 —V30 —2V2 0 -V6 2Vi5  —-V6 2vV2 V3 0 2V2
2F;,5(210)(21) 924 -7 3V6 5 —5V6 0 0 =2 3Vio  —2V3 0 —2V3 -2 2V6 0 —3
2F;,5(100)(10) 42 1 V6 0 0 0 0 0 0 0 0 0 1 -6 0 =1
) 147 0 V10 0 vVio -Ve 4 0 V6 V5 V2 V5 0 V10 0 0
Chs 25872 0 5V6  —35  5V6  4VID —3VIs 7 V10 -2v3 -V -2v3 -35  5V6 28VI0 -35
Fyn 336 0 -V10o V5 -VI0 0 3 -V15 0 2Vs  -3vV2 25 VI5 V1o 0 V15
2F55(210)(21) 924 -7V6 -3 5V6 5 0 0 -2v6 -V15 V2 0 V2 -2V6 -2 0 -3V6
2F512(100)(10) 42 V6 -1 0 0 0 0 0 0 0 0 0 N 1 0 o
“Ds2 882 0 w5 0 V5 —4V3 -6V2 0 -4V3  2VI0 3 PAVAT R W5 0 0
2D;,5(210)(21) 42 0 W5 0 —2V5 —aV3 0 0 8V3  —Vio 0 —4V10 0 PN 0 0
2D;/2(210)(20) 6468 0 -18V5 0 V5 18V 0 0 —-V3 —6VI0 0 —3VI0 o 95 0 0
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TABLE 7.

M =5/2—Continued

31-1 31-2 310 31-1 30 30-1 22-1 22-2 21-1 21-2 210 21-1 200 20—1 210 21-1 210 110
2L,z -10V6 —3V15 0 5vV6 —10vV6 —5V2  9Vio 24 —-15 0 10V3 45 -4 0 —20V3  —30  10V3 5V30
Lus —110 9V10 0 55 —110  10V3  33VI5 —24V6 15V6 0 55V2  —45V6 40V6 0 —110VZ  30V6  55V2 —30V5
K572 Vs —21vV2 0 —-17V5  18V5 —6VI5 21V3  8V30  7V30 0 V10 3V30 8V30 0 2V10 —10V30 —9VI0 10
“Tiore —4V10 -15 —-V30 —-4VI0 0 -2V30 0 0 -3VI5 —-6V6 —-2vV5 —3VI5 0 -6V5 —2V5 —3VI5 -2V5 0
%Ky 2V10 27 0 —-17V10 18V10 3V30 21V6 —8VI5s —7VI5 [} 14V5  —3VI5 —8V15 0 45  10VIs —18V5 —5V2
Tz —2V10 0 -V30 —2VI0 0 0 0 0 0 Ve —V35 0 0 3V V5 0 -V5 0
Ligjz -10 -3V10 0 8 -6 —-V3 0 6V6 0 0 —-7vVZ  —3V6 6V6 0 nvz 3V —avVz —9Vs
L2 —12V3 13V30 —135 —12V3 0 52 0 0 39V2  —36V5 —3V6  39VZ 0 —-30V6 —3V6 39V2 —-3V6 0
L -15V6  4V15 0 12V6 -9V 2VZ 0 -2 0 0 —-2vV3 12 -4 0 33V3  —12 —12V3 6V30
H,,,210021) —V3 —15V30 0 —24V3 —22V3 -50 —18V5 —20V2 2VZ2 0 —10V6 -21VZ —46V2 0 -6 25V2  11V6 —6V15
*H,p21011) V6 0 0 0 V6 2vVz 0 4 -4 0 -V3 0 = 0 =Vl 4 2vV3 0
Qe -V 4«5 V6 -2 0 -V6 0 0 -7V3  -V30 -6 -7V3 0 -16 -6 -7V3 -6 0
Ty —-12V6 4V15  30vVZ -—12V6 0 8V2 0 0 12 -3V10 —6V3 12 0 —-5V3  —6V3 12 —6V3 0
H,,(210)21) 4VZ  —45V5 0 96V2  88V2 —25V6 24V30 —20V3 2V3 0 80 —21V3 —46V3 0 8 25V3  —88 —9VI10
Hop@10)11)  —4 0 0 0 —4 V3 0 Ve —-V6 0 22 0o -Ve 0 2V Ve —4avVZ o0
Gopr 13 -4VI0 24V3 13 0 2V3 0 0 ™6 —9VIs 39V2 Ve 0 —72V2 39V2Z V6  39VZ 0
Gyp210)21)  TV2Z 5VE 0 VT —6VZ 10Ve VA 30V —9oVF 0 —20 14V3  2V3 0 14 —-5V3 6 —-17VI0
Gop210)20) —7VZ  —4VE 0 -V2  9vVZ -8V6 0 -3V3 —11V3 0 —12 V3 —3V3 0 0 43 12 —-6V10
Fope 1 0 0 1 0 2V3 0 0 -V& —Vi5 -V2 V6 0 0 V2 -V6 -Vz o
G -14V2 —-4V5 -84V6 -14VZ 0 11V6 0 0 7TV3  —9\V30 —84 V30 —144 —84 77V3 —84 0
G102  —49  5VID 0 —21 42 20V3 —49VI5 30V6e —9V6 0 0V 14V6 2V6 0 —49VZ —5V6 —21V2-34V5
Go210020) 49 —4VID 0 7 -63 —16V3 0 -3V6 —11Ve6 0 2vzZ Ve -3vV6 o0 0 e —42V2—12V5
Fupe —2V/2 0 0 —2V2 0 -V 0 0 V3 V30 4 V3o 0 4 V3 4 0
2F5(210)(21) =11 —3V10 0 3 2 V3 V15 2V6 —-V6 0 V2 -6 2V6 0 SNV 3Ve —-VZ 6V5
2F712(100)(10) =il 0 0 1 1 0 0 -V6 —-V6 0 0 Ve V6 0 0 0 0 0
Dype 0 -6 0 0 0 V5o 0 0 0 -6 0 0 0 V30 0 0 0 0
Gy 7 VIO  —56V3 7 0 —2V3 0 0 -1V6 V5 21V2Z  —-1V6 0 8V2 21vZ  —-71V6 21V2 0
Fypo —-Vis 0 0 -Vis 0 V5 0 0 —-V10 3 V30 -VI0o o 0 V30 —-Vio V30 0
Fyp(210021) —V6 Vis 0 3V6 2V6 -2vV2 —-3Vio -2 1 0 4V3 2 -2 0 -2V3 -3  —2V3 —-V30
%F,5(100)10)  — V6 0 0 Ve V6 0 0 1 1 0 0 —1 -1 0 0 0 0 0
Dy 0 -4vV3 0 0 0 2V10 0 0 0 "2 0 0 0 -3V15 0 0 0 0
D,p210)21) O -4V3 0 0 0 5VI0 0 —6V5  6V5 0 0 0 -6V5 0 0 -6V5 0 —6V6
2Dy5(210)20) 0 —-17V3 0 0 0 9V10 0 -8V5 —6V5 0 o 5 6V 0 0 —E 0o -6
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TABLE 8. M=23/2

N-2 S8 31—3 312 31-3 30—2 30—3  30—1 3%0-2 3-1-1 3-1-2 32-3 22
Ly 19448 5 /10 3V1s 3V10 —V5 0 5V2 10V5  —10V6 0 -6 0
2Lz 136136 5V10 7 15V6 —21 21V2_ 0 0V5  -35vV2  14V]5 0 —-6V1 0
2Kis/2 40040 3\/30 9V3 271V2 5V3 19V6 0 6V15 —5V6 22V5 0 —2V30 0
Tyspe 5005 V15 —4VE -15 —V6  —10V3Z  —9V2 —2V30 -10V3 0 -10 V15 —2V10
2Kz 120120 9\/‘15‘ —9V6 81 -5V6  —38V3 0 9V30 10V3 —22V10 0 —6\}15_ 0
Thers 6435 —2V5 2VZ —10\/_ 2VZ 5 W6  —4VIo 5 0 10V3  —2V5  -3V30
212 9009 4V10 -8 5V6 22 -13V2 0 V3 20V2  —6V15 0 —5V10 0
Ty 198198 2VZ 205 2V30 20V5 _ 25VI0  —271V15 8 25V10 0 —15V/30 V2 —12V3
Ly 36036 32 4V10 8V15 -11V10  13V5 0 W7z —20V5 15V6 0 —40 0
*Hup(210021) 90090 25V2 42V5 15V30 —-7V5  28V10 0 50 V10 —21V3 0 5V2 0
*H,1(210)(11) 396 4 0 0 V10 V5 0 -2V2  —2V5 3V6 0 4 0
Guije 3630 5V3 3V/30 45 3V30 2V15 6Vio —V6 2V15 0 3V 5V3 5VZ
oz 198198 —28 14V10 28 14V10 35\/_ —9V30 —56V2 35V5 0 -10V15 —28 42\/%'
*Ho/2(210)(21) 25740 —25 12V10  —15V15  —2VI0 16V5 0 —25V2 45 —-6V6 0 -5 0
*Ho/2(210)(11) 1386 -1V2 0 0 2V5 V10 0 7 —2V10 6V3 0 Ve 0
Go2 121968  —25V6 3V15. —20V10 3V15 V30 2V 10V3 \% 0 18V10 —25V6 —105
Ge/2(210)(21) 38220 —10V3 9V30 —5V5 ~14\/ 2VI5 0 —-10 —123?_15 -16V2 0 25V3 0
2G/5(210)(20) 9702 —13V3  —3V30 4035 0 /15 0 8V6 4V15 24V2 0 8V3 0
9/2 336 V6 —V15 0 V15 V30~ 0 2\/% V30 0 2V10 V6 -1
G 97020 5V3  —12V30 45  -12v30  -8V1s  36Vio Ve -8VI5 0 18V5 5V/3 105V2
2G712(210)(21) 38220 10V6 9VI5 5V10 -14V15 V30 0 20V3 —6V30 —16 0 —25V6 0
*G112(210)(20) 9702 13Ve  —3VIis  —V10 0 2V/30 0 -16V3  2V30 24 0 —8V6 0
702 84 V3 0 0 0 0 0 V6 0 0 2V5 V3 %3
Fus(210021) 924 —2v2 35 V30 -2V -V 0 — 2V10 0 0 5V2 0
F7/2(100)(10) 42 vz V5 0 0 0 0 0 0 0 0 0 0
“Dype 441 V10 4 —V6_ 4 -z 3V3 V5 -z 0 T Vo 0
G2 25872 —5V30 15V3  —20V2  15V3 5V6 -2¢ V15 5V6 0 _6\72— —5V30  35V3
Fsp2 1680 Vi —7 0 —7 (%2 0 —2V35 %3 0 —6V6 V10 3V15
2F55(210)(21) 924 —2\?5_ -3V2 5V3 V2 2 0 —2V10 4 0 0 5V5 0
2F5/5(100)(10) 42 V5 =Vl 0 0 0 0 0 0 0 0 0 0
572 4410 8V5 2\/%' —8V3 2V2 -1 —9V6 410 = 0 6V3 8V5 0
2D;/5(210)(21) 32340 —9V5  —36V2 173 42V2 48 0 _9\/'— —36 —6\/30 0 —9V5 0
2D52(210)(20) 4410 V10 8 2V6 14 -17V2 0 =3 Wz 6V15 0 V10 0
Fype 210 /5 V2 0 V2 — 0 Vo —2 0 V3 /5 V30
“Dy)2 630 2V10 —4 -2V6 —4 V2 3V3 o5 Va7 0 6 210 0
2Dy2(210)(21) 16170 —9V10 18 17VE —21 -12V2 0 —18V5_ 92 VIS 0 —9V10 0
2Dy2(210)(20) 8820 4\/_ —4V2 8V3 V2 17 0 —10V10 4 —3V/30 0 Ve 0
2Py, 84 0 0 0 Ve V3 0 — V1o
‘Sa 7 0 0 0 0 0 -1 X 20\/3_ A 5 0 0



9L1

TABLE 8.

M =3/2—Continued

31-2 31-3 31-1 31-2 30—1 30—2 30-1 2-2 223 21-2 21—3 211
Ly 1 V15 —2V10 0 2V15 —20V2 —4V5 15V2 24 5V6 —3V10 0 30
2Lyse V10 —25V/6 14 0 10V6 . —40V5 14V3 30V5 24V10 -71V15 21 0 3010
*K s -V30 —5V2 -14V3 0 —22\7‘7 8V15 -14V6  —14V15 8V30 13\/_ 19V3 0 10V30
s = —-15 —4V6 —4V10 —-15 -2V, -10vV3 2V 0 0 —6V6_ -10 —3V15
T —3\/? —15 14%6 0 —66 2V/30 28V3 —21V30  24V15  —13V10  —19V6 0 30V15
—
iy —2V5 -10V3 2V2 —6V30 —10)(3 —4V10 5 —4V10 0 3V2 10V3 -6V,
L V10 -10V6~ -4 0 5V6 —8\/15_ -1V2 V5 6\910 6V15 —6 0 —3V10
Tyaje 2V2 2V30 20Y5  —144V3 2V30 8 25V10 8 0 0 30V5  —15V30 6V2
g 8 —-16V15 10 0 8V15 —32V2 V5 28V2 48 -15V6  3V10 0 —24
*Hyu2(210)21)  —30V2 3V30 —35V5 0 —18V20 —46 —-35V10 4 —20VZ 0 28VE 0 YN
*H,112(210)(11) 0 0 10 0 0 42 V5 —2V?2 4 3V6 —V10 0 —4
Gy 5V3 45 3V30 -V 45 —Ve 2VI15_ —V6_ 0 0 —V30 3V5 -7V3
At —28 —28V15  14V10 84\/%— —28V15 —56\/" 35V5 —56V2 0 0 21VI0  —10V15 —84
2Hy2(210)(21) 30 3V15 —10\/ 0 18V15 23V?2 —20V5 2V2 20 0 8V10 0 25
2Hy/2(210)(11) 0 0 —2V5 0 0 —14 V10 7 =72} 6V3 —2V5 0 e
Gop2 —25V/6. —20\/ 3V15 21 —20V10.  10Y3 V30 10V3 0 0 V15 18V10 35V6
2Gyy2(210)(21) -15V3~ 17V5 5V30 0 —12V5 V6 10V15 9V6 30V3 —5V2 V30 0 5V3
#Gy(210)20) 5V3_ —8V5 3V30 0 45 2V6 —-8VI5s  —10V6 -3V3  —24V2  —5V30 0 —4V3
o/2 V6 0 -Vi§ 1 0 2V3 V30 2V3 0 0 —V15 —2V10 —V6
Gapp 5V3. W5 —12\/ —21V3 w5 Ve —8Vis VG 0 0 4V/30 18V5  —1V3
*G72(210)(21) 15v§6‘ —17\/510 5VI15 0 12V10 —2V3 5\/3_0 —18V3  —30V6 -5 V15 0 —5\/%'
2G/2(210)(20) —5V6 8V10 3V15 0 —\V10 —a\V3 —4\V/30 20V 3V6 —24 —5V15 0 Ve
Fap2 V3 0 0 -2 0 V3 0 -6 0 0 0 —2V5 V3
2F75(210)21) -3VZ  —V30 -5 0 0 2 —V10 2 2V2 -V3 V5 0 -3V2
2F;,,(100)(10) -2 0 -V5 0 0 0 0 0 -V2 0 -V5 0 0
Dy Vio —V6_ 4 _ 0 —Vg VE -2 Va_ 0 0 —6 V6 0
4Gyjz -5V30  —20V2  15V3 V5 —20V2  2VI5 5V6 2V15 0 0 V3 —6VZ  1V3D
Fype VIQ. 0 — —3V15 0 —2V5 2 —2V5 0 0 iy 6V6 V1
2F52(210)21) 3V5 —5V3 \/7—2 0 0 V10 9 V10 2V5 V30 \/7‘2 0 —3\?5‘
2Fy/2(100)(10) -5 0 3% 0 0 0 0 0 -5 0 %3 0 0
512 8V5 —8V3 2\/:2 0 —8V3 4V10 -1 4V10 0 0 -3VZ 6V3 0
2D;5/5(210)(21) 18V5 V3 —-6V2 0 —18V3 3V10 -1 6V10 —8V5  —8V30 24\/2 0 V5_
2D5/5(210)(20) —2V10 —4V6 —22 0 2V6 W5 13\/22 % -3Vi0  —6V15 18 0 3V10
Fype /5" 0 V2 —\/30 0 Vo - V0 0 0 V2 V3 -5
Dy 2V10 —2V6 —4 0 —2V6 2V5 \/Lz 2V5 0 0 6 V6 0
2D,,(210)(21) 18V10 V6 3 0 —13\/ 6V/5 3V2 12V5 —8V10 415 —12 0 V10
2Dy2(210)(20) —ax}_s -16V/3 11V2 0 8V  8VIo -13 +2V10 —12V5 3V30 —9VZ 0 12V5
2Py, 0 0 3 0 0 0 V3 0 0 —-V10 -6 0 0
1Sy 0 0 0 0 0 0 0 0 0 0 0 V2 0



¥—€9-O 852689

LLT

TABLE 8. M =3/2—Continued

—1

20-1 21-1 21-2

20—1

110

TiT=il

20— 20—2 200 100 10-1
Lyze 12VI0 —20V3 0 30V3 —45 —9V10 0 15 —40 -10V3  5V30 15V10 -—10V10 0
2L,50 —84 14V/30 0 _21\/‘30 _45\/ 0 63 0 15V10 —40VH 7V 50V3  —105 70 0
K572 20V3 2210 0 —9v10 —-3V30 —39V3 0 -7V30 8V30 -13V10 10 25V3 10V3 0
Lis —6V -6V5_  -16V2  —6V5_ -3Vis V6 —2V5 —3\/ 0 —6V5 0 0 0 —5V2
Kia2 —20V6  —44V5 0 18V5  —9VI5  39V6 0 —21 1 24V15  26V5 15V2  —25V6  —10V6 0
L2 3V2 Vi5 16V6 V15 —6){5 3V2  -3V1is  —6V5 0 V15 0 0 0 5V6
Liar2 18 V30 0 —2V30  3VI0 —12 0 0 6V10 V30  -15V3 —30 30 0
;{,.u 30V5 25V6_  —48V15  25V6 6V2 30V5  -36V6  6V2 0 25V6 0 0o 0 —-15V15
/2 —9V10 —5V3 0 10V3 24 6VI0 0 0 48 —5V3 —12V30 15V10 -15V10 0
Hup2102D)  _ggvs™ 21V 0 21Ve 21V2 0 0 -2V2  —46V2 0_ —6VI5 —35\/ —-14V5 0
Hii2(210)11) V10 S9\a 0 0 0 0 0 4 -4 3V3 0 = 10 0
:IGn/z 30 16 V1o -1 -3 V3 - V3 0 -16 0 0 0 —4V10
9/2 21V10 35V3  —16V30 35\53 —84 21VI0  42V3 —84 0 35V3 0 0 0 —5V30
Hy/2(210)(21) -8V —-12V3 0 12V3 —27 0 0 2 46 0 3V30 -10V10 —4VID 0
*Hya(210(11) 2V5 -3V6 0 0 0 0 0 SN2 % 3V6 0 -2V5~  -2V3 0
4Gz —~ —8V2 —48V5 —8V2 35V6 — 63V2 35V6 0 —8V2 0 0 0 V5
2Gy2(210)(21) 9\/ —32 0 22 -14V3 —10\/_30 0 9V3 2V3 10 -17V10 —5V30  12V30 0
2G/2(210)(20) 4\/ -8 0 16 -7V3 V30 0 11v3 —3V3 -8 —6V10 —3V30  3V30 0
4Fosa — 0 0 0 oV —15 =T =N 0 0 0 0 0 0
Gz 4V30 64 —24V10 64 —-7V3_  4V30 —126 —7V3 0 64 0 0 0 —24V10
*G72(210)(21) Vs  —16V2 0 VI~ 14Ve -10VI5 0 —-9Ve~ —2V6  5VZ V5 —5VI5  12V15 0
2G12(210)(20) W —aVE 0 Vi~ e VIS 0 -11vV6  3V6 —V2 125 -3VIs  3VI5 0
7 0 0 0 0 3 0 2 V3 0 0 0 0 0 0
2F;5(210)(21) 3V5 0 0 —5V6 2V2 —2V5 0 V2 -2V2 5V6 2V15 Vs —4V5 0
2F73(100)(10) 0 0 0 0 V2~ V5 0 V2 V2 0 0 V5o V5o 0
D, —6 V30 —2V3 V30 0 —6 0 0 0 V30 0 0 0 5V3
'G:/j —5V3 —8V10 16 —8V10 7V30 —-5V3 —21V10 7V30 0 —8V10 0 0 0 16
Fy, -7 0 0 0 Vi1 -1 3V30 V1o 0 0 0 0 0 0
*Faa(210(21) —3V2 0 0 2V15 2V5 2VZ 0 V5 2Vs  —2V15 5V6 -V2 4V2 0
*F52(100)(10) 0 0 0 -5 -2 0 V5 V5 0 0 V2 -2 0
“Dys —3V2 \/(15 6V6 % H 0 -3V 0 0 0 15 0 0 0 -15V6
2D;5(210)(21) -8V2  —12V15 0 —4Vis  -71V5  -16V2 0 6V5 6V5 16V15  —V6 34V2 36V2 0
2D, 2(210)(20) —-6 -V30 0 2V30 0 -12 0 —-3VI0 -3V10 -V30 —6V3 6 0
iF. V2 0 0 0 -5 V2 2V15 -V5 0 0 0 0 0 0
‘D:/:z 6 —-V30 —2V3 —-V30 0 6 0 0 0 —-V30 0 0 0 5V3
2Dy2(210)(21) 4 3V30 0 V3 —7Vio 8 0 6V10_ 6VIg —4V —2V3 -1 —18 0
2D112(210)(20) Nou VIS 0 VIS 0 N 0 -12V5 -12V5 VIs -12V6  3V2 -3V2 0
Py, N N 0 0 0 0 0 0 0 -5 0 -6 -6 0
‘Sz 0 0 -1 0 0 0 0 v < © g 0 0 1



8LI

TABLEO. M=%

N-2 aT-3  30-3 3-2 3-3 3-1-2 3-1-3 8—1-2 38-3 -3 3-2 31-3 -2 30-3
Lazs 4862 2V2 -6 4 2V6 V3 0 5V3 0 -3V2Z 0 vz -10 -6
*Lass 58344 6V 8 6Ve  —16 16VZ 0 -20V2. 0 -9V3 0 3VE -1@5 8
Kissz 51480 14 24 14V6 0 32 0 —20VZ 0 —5V3 0 —9V3 5V6 24
Ty 6435 —4V6  —9VZ_ -10V3 -9V2  -10 —-4V6  -10 V15 —4VE 15 -4&_7 -10V3 —9V2
Kigia 90090 14Ve  -21VZ  28V3 0 —56 0 35 0 —5VE 0 —-9V6  10V3  21V2
Tiaa 25740  —6V6  9V2  -15V3  9V2 10 14V6 10 —4V15 —6\/\;; —60 —-6V6 -15V3  9V2
ya 36036 14V3  -21 V6 42 —28V2 0 35V2 0 —22 0 8V3  -20V6 21
i 28314 8 9V, 10V2  9V3 5V6 —36 5vV6_  —6V10 8 5 V6 8 __  10V2  9VZ
e 5148 T e a Ay SV - 0 —-10V3 0 -11VZ 0 4V2 —20 3
1H,,(210)(21 2574 5V5 4V 5V10 0 V30 0 V30 0 V5. 0 —-V5 V1o —4V
nH::ﬁ:}mg;}n; 2772 vr Vo -5 0 8V3 0 -10V3 0 -5V2 0 0 10 -6
Gu 5082 3V30_ 6VI0  2V15_  6V10 3V5_ av\?;_ 3V5 5V3  3V3a_ 4V 3\/ 2\/ 6V,
T 132132 —14\/‘1‘0‘ 9V30 -35V5  9V30  10V15 —14VI0 10VI5 28 —14VI0  28V15 -4 —35 9V/30
2H,»(210)(21) 12870  —5V30. 10V10 —10V15 0 5V5 0 5V/5 0 -V 0 6V/30 2V —10V/
*Hys(210)(11) 27172 —2V15 V5 V30 0 4V10 0 —5\/10 0 2V15 0 0 -2V30 -V5
Gopa 182952 —21VI5  24VE -1V 2V 6V 45V15  6V10 —45V6 —21\/ —36V10 —21V Y 24\.)5
2Gya(210)21) 57330 —5V30 15VI0  —10V15 —30V10 —5V5 0 —10VE 0 14V30 0 —9V30  12V15 10
2G/5(210)(20) 29106 -6\/15 -3V5 8V 6V5 18V \}L_ —6V10 0 0 6\ \/ﬁ_/_ 4\)@ —3\V5
Forz 504 ~ 0 30 0 2V10 15 2VI0  —V6 -V15 0 -V15 30 0
4Gopa 58212  —3V30 -—12V10 -2V —12\/ —-6V5_  18V30 —6V5  45V3  -3V30  36V5 = —3V/ -2 \/15_\/ -12V.
2Ga(210)21) 22032 5VI5  12V5  5V30  —24V5  —2VI0 0 -4\/—10 0 —14VTS 0 V15 —6V30  12V5
2G12(210)(20) 29106 15V3 - —20V/6_ 12 36V2 0 —19V3 0 0 —15V3  10VE -3
Frya 252 V6 0 “2V3 0 2 2V 2 N 0 & 3 0
2F75(210)(21) 924 \/3_\/ 4 V6 0 -2V2 0 oy 0 V3 0 = \/\/‘{ NG -
2F75(100)(10) 42 3 2 0 0 0 0 0 0 0 0 -3 0 -2
Dy 735 4 Vi V2 3V3 Ve 4 & V 4 -V 4 VL  3V3
o 12036  —15V3 24 —5V6 24 6V2  —15V3 6\/'3‘ 5 —15V3 20\/%' —15V3 _5\}5“ 2
Fyia 840 -1 0 V2 0 2V6_ -9 2V6_  3VI0 - 0 -1 V2 0,
2Fy/(210)(21) 462 vz -6 2 0 V3 0 —2\V3 0 2\}2‘ 0 —3V32 4 Ve
2Fy5(100)(10) 42 2 -V3 0 0 0 0 0 0 0 0 -2 0 V3
“Dya 8820 10V2  -3VE -5 -3V6  2V3  -18V2Z  2v3  12VE  10VZ  -12V3  10vVZ -5 -3V6
2Dy5(210)21) 16170 3V2  —6Ve 6 12V6. 9V3 0 —3V3_ 0 —21V2 0 18V2 18 —6V6_
2Dy2(210)20) 8820 22 —ox/g' -13V2  18V3  —2V6 0 —11V6 0 —14 0 -8 —4\V2 _9v‘3L
Fys 70 -V2 0 2 0 -3 V2 /3 \/5_\/ -2 0 -3 92 0
1Dy, 630 0 -3 0 -3 %3 W3 V2 2V30 0 V2 0 0 -3
2Dy/(210)(21) 5390 3 4V3 3V2 -8V3.  -3V6 0 Ve 0 —21 0 18 o e
*Dys(210)(20) 8820 1Ve  9vV2  -13V3  —18VZ 4 0 22 0 -1V6 0 —4V6  —4V3 9V2
Py 252 V6 V2 V3 0 7__ 0 = 0 -6 0 0 3 —3Vz
1Sy 21 0 -1 0 -1 2 0 \/Zz' 0 0 0 0 0 -1
Dyjg 12600 -2V6  3VZ V3 3VZ — -2V6 -2 AV T/ S U -2V6 V3 3V2
Py 252 2V3 -3 V& 0 2\}5' 0 vZ 0 —2\/2' 0 0 2\;6_ 3




6L1

TABLE 9. M=% — Continued

H-1 30-2 3-1-1 3-1-2 22-3 21-3 2i-2 21-3 20-2 20-3 20-1 20-2 2-1-T 2-1-2

Lyze 0 6 —-2V30 —V3 V30 -3 9V2 5V3 —4V6 0 2V15 8V6 —9V5 0
Lgyz 0 e _ —18V nve) 9V3 4V2 21V3_ —20V 32 0 9V10 —64 12V30 0

Kisz 0 —19\/ 22V5  —12VZ  13V5 12V2 39V3 20 64 0 13V10 0 12V30 5 0
12 —2V/30 —10\/ 0 -10 0 -10 —6V/ -10 -16V2_ —10V3  —6V. —-16V?2 0 —6V6
%Kiy 0 -38V3~  22V10 21 13V10 —21 39 -35 —56\/§_ 0 26 0 —21V15 0
Tyz2 -8V30 -—15V3 0 10 0 10 —9V6 10 16V2 35V3 —9V5_  16V2 0 21V6
Ligjz 0 13V6  —18V5  —71V2 18V5 -1V2 12V3~  35V2 —-14 0 —-3V10 28 0 0
Tyje -24V5  10V2 0 5V6 5V 1 5V6, 6V sV 2VEm 16\/_ 0 —54
e 0 13 -3V30  2V3 3\930 2V3 6\32 —10V3 2\/'63_ 0 V15  —4Ve 0 0
*H,,/2(210)(21) 0 —V10 -3V3 -2V 0 2V/30 0 — 2\/15 0 0 0 —9V2 0
*Hyya(210)(11) 0 -5 3V30 2V3 3V30  —2V3 0 10\/ —4V6 0 -3V15 0 0 0
Gy -V6 2V15 0 3V5 0 3V5 -V30_ 3 \/5__\/ —4V10 2\/15 -16 —4V10 0 —V30
Lo 56V2  —35V5 0 10V15 0 10V15 —21VI0 10V15  16V30 —35V5  —35V3  16V30 0 —21V10
2H,2(210)(21) 0 8V15 92  —10V5 0 10\/ 0 —sV5 5V10 0 0 0 -15V3 0
Hg/2(210)(11) 0 V30 —18 V10 -18 — 0 5VI0  —4V5 0 9V2 0 0 0
Gyj2 18V3 —7V30 0 6V10 0 6V10 7\/15 6VID -16V5  15V30  56V2  —16V5 0 —-15V15
3Gy2(210)(21) 0 —-2V15  -16V2 155 —5V2 15V5  10V30 -10V5 —5V10 0 -10 10VI0  —35V3 0
2G4 2(210)(20 0 /30 48 -12V10  —48 —12\/ —2V15 —6VID —13V5 0 8V2 26V5 0 0

F:,’:' aa 2V3 V30 0 2V10 0 —2Vio —Vi5 -2V10 0 —V/30 0 0 0 V15
Gapa —-9V6  —2V15 0 —-6V5 0 —6V5 V30 -6V5 8VI0_ 12VI5 16 8V10 0 —6V30
2G72(210)(21) 0 V30 16 6V10 5 6V1I0 -10V1IS —VI0 —4V5 0 5V2 8V5 —14V6 0
2G7/5(210)(20) 0 10Ve = —24V5  —24V2 24V5 —4V2 5V3_  —12V2 —26 0 —4V10 52 0 0

11//: —V30 —2V3 0 2 0 =2 6 -2 0 —4V3 0 0 0 2V6
2F712(210)(21) 0 V6 0 —-2V2 -3V5 2V2 2V3_ V2 —4 0 -3V10 0 2V30 0
*F712(100)(10) 0 0 0 0 0 0 -V3 0 -2 0 0 0 0 0
Dy V5 -2 0 -6 0 -6 —6, -6 —2V3 -2 /30 —2V3 0 —6
Gy —2VI5  —5V6 0 6V2 0 6V2 5V3 6V2 -16 -5V6  8VI0 -16 0 5V3
Fy, —6V5 V2 0 2V6 0 -2V -1 —2V6 0 9V2 0 0 0 -9
*Fl5(210)21) 0 2 0 V3 —\V/30 -V3 2V2 2V3 V6 0 —2V15 0 -3V5 0
2y a1 0 0 0 0 0 0 —2 0 V3 0 0 0 0 0
Z’f,‘ b 6V10 -5 0 2V/3 0 2v3 —15V2  2V3 2V6 9 5V15 2V6 0 271V2

2D;/5(210)(21) 0 —24 —3V30 —6V3_  —4V30. —6V3 8V2  —3V3 Ve _ 0 —8y15 —18Y6  —21VS 0
2D, (210)20) 0 17V2 6V15  13V6e  —6V15  13V6 12 —11VE —4V3 0 V30 8V3 0 0
Fy —VI0 2 0 —V3 0 V3 -2 V3 0 2 0 0 0 V2
Dy, 2V15 0 0 V2 0 2 0 V2 2 —Vé 0 2 0 —6V3
2Dy/5(210)(21) 0 -12V2. -3V15 2V6  —4VIs 2V6 8 V6 —6V3 0 —4V30 12V V10 0
2D32(210)20) 0 17V3 9VI0 —26 —9\/10 —26 6V6 22 4v2 0 3V5 0 0
Py 0 V3 -V10 6, —-V10 —-6 0 2 2V2 0 V5 0 0 0
‘Si/: 0 0 0 V2 0 AT 0 V2 =1 0 0 -1 0 0
“Ds 2V30 \/‘; ' 0 -2 0 -2 V6 -2 —2VZ V3 3V —2V2 0 3V
2Py 0 V6 —2V5 —3V2 —2V5 Ve 0 - -2 0 V10 0 0 0




081

TABLE 9. M = Y% — Continued

21-2  21-3  21-1 21-2 20-1 20—-2 20-1 11-1 -2 10-1 10—2 10-1 100 10—1
*Lyzje -12V2  —4V3 0 3VZ  —6VIs —V6 4VE  15VZ 9V —5V6 0 10V6  -10V2  -5V6
2L1s/a -36V3 16V 0 9V3 —27;10 32 18V 45V3 12V 40 0 —80 —30 40
*Kisjz —m\/%' —32V2 0 -19V3~  9V10 —64 —22V10 25\/3' 12V30 40 0 0 10 —40
Liyje -6V -10 -3V15s —6V6. —6V5 16 —V5_ 0 0 —-sVZ. —6V5  —5V2 0 —5VZ
Koy Ve s 0 -1V VS seVE V5 svE  -aVE % A 0 Ve mvE
D -9V 10 -12V15 9 —9Y5" 16V2  —9\V5 o3
21:3: —18\/%_ —28V2 0 6\%56 6V10 —14 —3V10 _3(?\/3' 8 5;?- 213/5_ 5—\7/02- ao({/:? 5352
Liye 12 5V6_  —18V10 12 2V30 16V3, 2V 0 0 5vV3  —9V30 5 0 5V3.
112 —-9V72 8V3 0 3VZ 2V15 2V6 V15 _5v72 0 —5V6 0 10V6 15V2 = \}6—
2H,12(210)(21) W5 -V 0 -5  -3V6 -2VIs  3Ve _5\rA N YT 0 0 Vi VS
’H::/:(Zlo)(ll) SOV:2 —8V3 0 5V2 0 4Vé6 3V15 —5V2 0 —5V6 0 0 —5V2 5V6
‘Gz Y 3VE -1V3  —=V3) —16 —4V10 —16 0 0 —4V =16 —4\V10 0 —4\/10
s —-21V10  10V15 84 —21V10 -35V3  16V30 —35V3 0 0 5\/‘1930 —35V3 5\/3% 0 5V30
2Hy/2(210)(21) —4V, -5V 0 4V 18 —5V10 = 5V30 —15V3  —5VI0 0 0 2V 5V10
Hy2(210)(11) 2V15 —4V10 0 —2V15 0 45 —9\95 2\/?% 0 =5V/5 0 0 w‘i‘% 5
G, V5 6Vl 63V6  TVI5  56V2  -16Y5  56VZ 0 0 -16 -120V2° -16V3 0 —13)5'
2Gya(210(21) —9V30 —5V5 0 —V30 —22  —5VI0 32 —5V30 35V3  10VI0 0 —20V10 12V30  10V10
2G/2(210)(20) —8V. 18V 0 wﬁ -16V2  —13V5 8V2 —6V1s 0 5V5 0 -10V5~  6V15 5V5
Fo2 -Vi5 -2Vi0 V6 —Vis5 0 0 0 0 0 0 0 0 0 0
Gy Vi —-Va5. —63V3 V30 16 8V10 16 0 0 8V10 —96 8V 0 8V10
*Ga(210)21) 9\)-15 —2V10 0 V15 11V2 —4\/9_5 -16V2 5V 14V6 8V5 0 -16V5 —12Vi5  8V5
2G7/5(210)(20) 20\)&_ 36V2 —2\5)(;? 8V10 —26 —4V10 15V3 0 10 0 —20 -15V3 10
Fps 6 -2 \?_15 6 0 0 0 0 0 0 0 0 0 0
2F75(210)(21) -3V3 2V2 0 V3 3V10 4 0 ﬁ 2V/30 -8 0 0 —4\){}— 8
2F7/5(100)(10) 0 0 0 V3 0 2 0 3 0 2 0 0 -2
D, = 0 vV, —2V3 \Y% 0 0 5V3 @ 5V3 [} 5V3
G SV VB VA Vi It 6 aAb o 0 26 8Vio -6 0 26
Fy, -1 —2V/ 3V10 - 0 0 0 0 0 0 0 0 0 0
*Fya(210)(21) —3V2 —\/3§' 0 \/]2' 2V15 -V6 0 V2T -3V5 2V6 0 0 -4V —2VE
2F5/5(100)(10) 0 0 0 2 0 -3 0 2 0 - 0 0 2 V3
Dy, -15V2  2V3 0 -15V2  5V15 V6  5V15 0 0 V6 —9VI5  —5V6 0 —sV6
2D5,(210)(21) w7 9V3 0 -12vZ 2VI5 9V 6VIs 17VZ  21Vs 3V 0 —-6VE 18VZ  3Vp
2D5/5(210)(20) 6 —2V6 0 —-18 —2\}3‘0 —4\93' V30 —6 0 3 0 —2V3 6 \/36'
Fy -2 \/a_\/ V5 -2 0 0 0 0 0 0 0 0 0 0
Dy 0 2 0 0 0 2 0 0 0 -5 3V10 - 0 -5
2Dy/2(210)(21) 4 -3V6 0 - V3o_ —6V3Z  3V30 17 -vV10 -2V 0 V3, 1 —2V/3
2D.2(210)(20) V6 4 0 —-9V6 —6395 42 3\73n —3Ve 0 -2 0 2V/2 3\96_ -2
Py -6 0 Ve 0 -2vVZ V5 -6 0 -z 0 0 -6 vz
Sy 0 \52 0 0 0 -1 0 0 0 1 0 1 0 1
Dyje 3V -2 0 3V -3V5  —2VZ -3V 0 0 5V2  —-3V5  5V2 0 5V2
Py, —2\/%' -2V2 0 2V3 0 2 —\X; —2V3 0 1 0 0 —2V3 -1

(Paper 67B3-101)



	jresv67Bn3p_169
	jresv67Bn3p_170
	jresv67Bn3p_171
	jresv67Bn3p_172
	jresv67Bn3p_173
	jresv67Bn3p_174
	jresv67Bn3p_175
	jresv67Bn3p_176
	jresv67Bn3p_177
	jresv67Bn3p_178
	jresv67Bn3p_179
	jresv67Bn3p_180

